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Sifleyenyaen : (1) mangs clamss@sd sflurs udend edrarsr aragman silunisss

Instructions :

GOy : (i)
(i)

Note : (i)
(ii)

Qsrerenayiy. sFsLS D Haopdminda emp ararailliumeiliL
e _argurs Qsfeflsse)n

(2) Beob @dagm sEUY  amwowloa 0LEED  dpgash@w
SslarcPaugheb vuaufss Cauam@bd. ULRSET amrasng
Cuendlér LweaTu@dgab.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams,

u@S -1/ PART -1
Smengg| alanésghagd ol weflssayn. 15x1=15

Qar@és i Garer wmnl afe seild Waanh ahyenw e awd
GaipdaDgs @O GLsn allen_udamany b Geftga) erpseyb.

Answer all the questions.

Choose the most appropriate answer from the given four allernatives
and write the option code and the corresponding answer.
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1.

sffluis sflesmar ouflusne b e :
(<91) enmeunsae

() erfigga

(&) whder Copumnde Casse

(%) wlbe syipons Caramg. Caflsd
Radioactive wastes can be disposed off by
(a] composting

(b) buring

[c) surface impoundments

[d) a deep geological repository

ereleuens @erituméssde Caupur@sdr Ggrémyn 7
(=) ureblsll Gemi@umssD

(<) sanall Qentidumésn

(&) uredller’ Aumssn

() (=) oppib () Qe Gid

" In which mode of Reproduction variation are scen ?

(a) Asexual

(b) Parthenogenesis
[c) Sexual

{d) Both (a) and (b}

amfe frfelames Haé sGewurer urduyseEsss eaamd suflub Haeile

a ger aflemdlarn erg ?

(=) G)meur pelilsar (<1,) LTI g5

(@) L Camallsar (F) umesEET

Which one of the following are at high risk extinction due to habitat destruction ?
(a) Amphibians (b] Mammals

(¢) Echinoderms (d) Birds
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4. am uplydfidar o _d Qedscild, 3 Aargdl 210 ey Gor Gemba ehh 2 %

@ETTCIorGarha@yh mra b, e aAuldn LT eréarama. s Blmdimin 7

(<) dlens gy (&) copeim
(@) Bewurd eulf () Qg

When a Drosophila body cells contain 3 sets of autvsomes and 2 X chromosomes,

what will be the sex of the fly ?
(a] metamale (b) male

[¢) intersex (d) [lemale

5. wafls wruand AsrEduls s Qurgs eplrge sTrhsaer aETailLme
SO
(=) 35 Bodluer (=) 3.5 Wbdlwer (@) 3.1 Gdelluer () 35,000

The total number of nitrogenous in human genome is estimated to be about

(a) 35 million  (b) 3.5 million (¢) 3.1billien  (d) 35000

6. oM smss@L wrifor gL 05d Qaauite sdiury s@edng ?
(<t) FSH wimib LH enriGionanedr &TEgme gremHiaugen epaib
(<) d@rLprensils ey ghubissga pad
(@) siar_Fe el L a6 Sgenon o Laiguns Hflsg el Heugen paibd
() FSH whpb LH anriGlorasd srasme sRULSD apali
A contraceptive pill prevents ovulation hy :
{a) stimulating release of FSH and LH

(b} blocking fallopian tube

(¢) causing immediate degeneration of released ovum

(d) inhibiting release of FSH and LH

E [ §ipliys ; Turn over
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7.

QaniuBeauda SMUGD rhpriseerd sl e el GmeT . STem

B PEAUILIPLD.

() @ @G Qs b adr (ea1) erdGin@gtibser
(&) eote G b e (m) flensGlain Geumur-( p_ufiflae

Organisms which can survive a wide range of temperature arc called
{a)  Endotherms (b) Ectotherms

(¢}  Stenotherms (d) Eurytherms

B - dlbGurersl Qaeer gramBous :

(=) Qemr.Quyren (<) 208 erdlFQummar
(@) efiQurmer gnemy (FF) erdli@ummer

B - lymphocytes are activated by :

(a] Interferon (b) Antibiotics

(c) Antigen (d) Antibody

eugsTeasaid ahgsanme) e HUSHEE LwaUBD durgeurar gemuQuUTmET :
(=) sEbUTa®E Fifla s (<) Gamwmomey

(B)) Ganmar o_awray () Bloss_ane
The most common substrate used in distilleries for the production of ethanol is :

(a) Molasses (b} Soyameal

(c) Corn meal (d) Groundgram
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10, QewduRb aledd agy) afluman aiflons ?
(=] FSH —= LH & @cafli@edn - alfiach o (LEIT&HLD
() LH — @ 50§ Qedamdr —» Qenlh_nevieGrren - eflpgIead aihaumhsb
(@) TSH = FSH o QaiCned Qrasdr - difgEad omairsal
() LTH — Qe nadl Qacadr — Spem G — efilbgiEed e maunébs o
Which is the correct order of action ?
(a}j FSH — LH — Inhibin — Spermatogencesis
(b) LH —= Leydig cells — Testostcrone — Spermatogenesis

{c) TSH — FSH — Sertoli cells — Spermatogenesis

{d) LTH — Sertoli cells - Androgen — Spermatogenesis

11. o Bardsal b anriy aatluts suflaaudd auGurs Qmests 7
(=) awaasCursd Qowrs Haaude
(=) ewiiflenizer Gaiiey Qg seadludd miHLBHDLEUNg

(@) Glangami L sHer =erey QuRgrs EmESTD

(r) Aef erpmb Gdars flamaouild

A population will not exist in Hardy Weinberg equilibrium, if :
(a) There is no migration

(b} Individuals mate selectively

{¢] The papulation is large

d}) There are no mutations

| #mrigys [ Turn over
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12. vaflgafiar ABO @Qrés cumssmer sl HUUGGSUE

(==1) LITQIETTHS 100 LIgmIHSET (<ap) udam () A
{@) \'-Jﬁﬁ"’bﬁ WU Gar () Qaraed LDU'LI@];@SEE@T

ABO blood group in man is controlled by :
(a) Sex-linked genes (b}  Multiple aileles
() Y-linked genes (d) Lethal genes

13. afiGerGsmllen eI
(1) SemravGromywib Gasfadnis QaueiCumib ps
(=) afGorgGarmSaflar (penGanmy
(@) efGuor’smumed @aidalmis GaelCunn pés
(r) e GpiGLrsrssalleliphe HaalGumd pés
Haemozoin is :
(a) A toxin from plasmodium species
(k) A precursor of haemoglabin

(] A toxin from haemophilus species

(d) A toxin from streptococcus

14. Speumauanceuyer 6hs ¢(F SaeuanoliL, 2amay whmb BT uHnrEE@neU S Tis
e palfing 7
(=) godu sre @aldumnssnd (=) @alf episb
(@) cwamslurgd () GamanL o m&sth

Which one of the following is a suitable adaptation to overcome food and water

scarcity ?
(a) A short reproductive period (b} Winter sleep

(c) Migration (d) Summer sleep
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15. slayban o uilu LR AES NI Qg Grrimi |

(=) L@ ana GER T

A i i . . =
l:\_fd. S‘..llqlllﬂll.l édﬁm?}_‘}ﬂ-! (_t-ﬁlro'ﬁ:t.,‘li(,.‘.]|[] @mmsj-‘gw

@

) Ueems@ eiflaflisd

(F) el <& Elmen Gematanu coifle g med

The purpose

(a)
(b)
(c)
(d)

@iy

Note :

of biolagical treatment of waste water is to
Reduce sedimentation

Reduce BOD

Increase sedimentation

Increase BOD

Ll - II / PART - I

seneuGuenib Sym daréserss el wdlisan. ddeam adr 24-&@§
sLLmubrs alawelldmeab, 6x2=12

Answer any six of the following. Question number 24 is compulsory.

16. wgenflena eranpre eraren ?

What is senescent phase of life ?

17. Apgys Hreugdd 2y mdlujdrermes wrensy ?

What is the composition of semen ?

18. POCSO sl gdlan apadluggeud uimeney ?

State the importance of POCSO Act.

19. uREwRsEe: eranmra) sramen ?

What is transcription ?

20. Qgrenesiowimen wLBludld grerTiIUl L sumggener Ll wiehl{s.

List out major gases seems to be found in the Primitive earth.

[ Apliye / Turn over
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2L, S el e Gandn s min ool areenrm Gimdl Gladaos
Cedmman_ fmay 7

How does the trophozeite of Amocbinsis reach the final destination in our hody ?

22, @sonas - QT & & GyLD.

Define Zymology,

23. Jumidren wrumnl GUTHd sretmme) erean 7

What is Mass extinction ?

24, QanCrramr sneuge @(h RNA eeurdy. opliuenuiiéd PCR Qgﬂﬁf;‘)ﬁf‘;”&
DRA-enws sem(hGiémnd Gsmflan . =iiuy Quafld, PCR Ggrifléanub
CarGrrerm eneureensn sanfgefld erdueurmy LweTUHEDS ?

Corona Virus is a RNA virus. Basically PCR technique is used for detecting DNA.
If so, how PCR technigue is used for diagnosing Corona Virus ?

Lgdl - I / PART - 111

@Oy : semaiBueyn m alanss@sg e walssab. efarr eram 33-&(§

sLLrmuong eflenwel&sa)h. 6x3=18

Note:  Answer any six of the following. Question number 33 is compulsory.

25. smatlaree wpmh fsstarama Capubiss.

Differentiate foeticide and infanticide.

26. srl&CrmAenmavC nflen i reflen Crmani ereueuny selfssamn 7

How will you prevent erythroblastosis foetalis ?



27.

28.

29.

30.

31.

32.

33.
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9
wGathur Gg,rru‘y.ei;@-) ardlpns FHULS erarpT ? o ang) eflent & STETLD F(H.

Is vacelne available against malaria ? Give reason for your answer.

GowSeamsGem e apusmblar LD a@Thg Unshsmads @ E5ab.

Draw the diagram of immunoglobulin molecule and label the parts.

Biamenuifiu erflGummer swar LH Sy gy sTpgis.

Write short note on microbial fuel cell.

Caunu®sss : Bens@aniu Caupur® 2u9fsar (LfGgTbseT) wHmb @Genpleniu

Gaumur’ (5 2 w9 fger (soie Gamsribar).

Differentiate Eurytherms and Stenotherms.

Splar weirLa Ubaezs seareiouden gpenm Kflaysaman sllarsEs.

Explain the three indices of species diversity.

B Blens 2araul L gens maeing sLHOUGESDMD ?

How can we control eutrophication ?

U Sper wHHD Gnépa afu @rerepEn G Guuder Cagur@aame
PG 5.

Write the differences between multipatency and oligopotency.

[ #lgslys / Turn over
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u@dl - IV [ PART - IV
@PIlY : Semanggy cllammamEnd@in el el walssab. Sx5=25

Note : Answer all the questions.

34, () waflg smlmude el BOEE emyLILSgILe efaufl&sab.
{60605
(=) pog @HH0 Brl Wwmwra BaQumis w,Grrsdugms MA@
Cuplsrdrar Geuatmgw ebdlae wrae ?
(8] Describe the structurc of the human uterus with a ncat labelled diagram.
OR

(b)  What are the stralegies to be implemented in India to attain total reproductive
health ?

35. (=) urg epusddile, Qumfl Quuidgss mmaefar ukdaa dlaTsEs.
260605
(=) wrugnd @oiGaeisn Spiy Larysda wiea ?
(2) Explain the role of translation components in pratein synthesis.

OR
(b) List out the salient features of Genetic Code.

36. (=) goring - afen@uid snarur® (p?+2pg+g?=1) Qadsm Lgfd swf o
Bmiuens eréusumm eflenégdlng ? wrwd swillaaamul UTEEED Smyeflser
aGsgib predlaean ul s s,
S0 g)

(=) G mig urdeflur Crmismas updl epss.

{(a) How does Hardy-Weinberg’s expression [p2+2pq +q?=1) explain that genetic
equilibrium is maintained in a population ? List any four factors that can
disturh the genetic equilibrium.

OR

(b) Explain any five bacterial disease.
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37. (@) Quéy CpmiggeeL HTUY 6Tal pib e Lma Gpmisaf ol @b
UTEHSTESH DS TaILang e gs.
060G
() PCR Osmldmt usdan Gaudpapau claméss.
(a) Explain how innate immunity protects our body against diseases.

OR

(b) Explain the process of PCR technique.

38. (=) fflen apsdlu ueim semaT LULGWEHS.
S0 g
() LmsHs sfley whpb Wetagns sfleseamer prb eraieuny Guoeramao
Qriwemb ?
(a) List out the essential properties of water.
OR

(b) How can we manage medical wastes and E-Waste ?

-00o0-



